Y6 — Autumn — Block 2 — Step 9 — Short division Answers

Question Answer

a) 9+3=3
90 +-3=30
900 -3 =300

9,000 + 3 = 3,000
1 b) 6+2=3

60 +2 =130

6,000 + 2 = 3,000

6,000 + 3 = 2,000

a)
3/11(2|3
3]/9/3/6/|9

b)
4/0/2]1
218|042

c)
2(1/41
418|564

p d)
1/1/4/1|7
5(5/77% 8/

e)
2/3/6/0|9
3170|827

f)
0/4/1/0|7
6|12% 6 4%

r5




Y6 — Autumn — Block 2 — Step 9 — Short division Answers (continued)

Question Answer

a) 127r2
b) 129r4

4 c) one hundred and eighty-one remainder nine
d) 99

a =198

b =371
5 ¢ =90

d =288

2,306

163

—_
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